FAAFPRP AP 110 A ERE 2 KE TR R A | IR LR
sl (R ] ROERRR /i [S6214-56215) £ 500mm ~ £ 55 D2 < [ - AR(fixed) i ¥ - L5l k2 4 P=10kN

R 3R E# 2 150mm B4 (7 3 g B2 %)) chhzd o B FFIHE A > 4o [B=- ]
* 2 drd %Y SR o B b U R % R RS, = 620[MPa] > % > Fl#cFs=2.0 ¥ ¥ T 7
AR OFETARAEERE > RIS F T Bil s B RR - BREPD LR A 3R RS T RYRE
EWARAIL @7 2A A FREITEH AT AP0 . o . N
QrFEL L -k » 2LEFHJEE 4 % %E,_’E_{)’z 25 i 5 ¥ 100 A o (=) F F 4 XZ T g a5 4 B](Shear force diagram) - [4 ~ ]
OLEJFMAINE R I L RF LN FRE RN Y DR T LB L R T (=) &~ ¥ 4 (Shear force)[kN] 2 # # & i ? [3 4]
TEwHPIE - =) =22 4 X7 T 5 h% e Bl(mom i o S
QF /M EFELTARY L  FUTETAREA T FRANL TR FAPE . (=) F 2ol B 8 AE ] ( 0”entd/|agram) [i‘r ]
ORARALFR* [ 2 UTFPEE (3 227 HibSde TS He s HHAS » < T Skl > (2 ) &+ Fae(moment)kN*m] 2 4 2 @ e ? [3 4]
PR LR R (B B - TREK - LAsni ) L EE R LY (1) 3% & X2+ & iz 22l (torque diagram) - [4 ~ ]
2+ T oz 2z &5 A E , <] 3 —\_L N, 32l Yy FAY B, 4 . R , ,
4o p Jhi#wj$ﬁlmﬂ do Jo 3 E Aw-wfvfgﬁﬂﬁﬂ‘“ﬁl““* (=) &+ $4p(torque) [KN*m] 2 % 2 &t A ? [3 4]
LA g o203 AL T3 ﬂaﬂ*im Ry R PR - L i e »

OF LM » AMFHHFLELPE o (=) Fh* 5~ T4 FRIBER - TR bz~ [mm] 5 = 7 [4 4]

% > . - . ~ . . 2 " ‘,
KEREAZINP R ERY I F4 GIEESE T YN :rmax=°525y=\/(?) F (T2 B T Bt TS
¥ - AL

Syt R4 KX 2%l opn $9 B4 T s BT R
4ol B - YArom 2o Am 2R M4m0 4 M12 2 45 &(wﬁ%p 1.75mm-~ & [f] 2 /£ 10.863mm) A * * be 3R ‘ YRS
GEED G L T RE AGR AL 2T 5 T500N] - F Rt KGR 7 4
Sy = 480(MPa) » 4243355 Ak 5 4 % 6 ff > & 2 FIHFS =20 g ¥ T AIRAL ; Y
| .Y

(=) ¥427 f3(roo0)E /= 5w P [ ¢ 7 498 =5 FE -~ x 0.866p ] [3 4] !

(=) BaiEmefie? [34] Al

(2) Wl &lp2 5% 4 b 87, T, 5 7 2 [34] . (B #%

)

(v ) %t f 7 F=10,000[N]en i T > ot 34 4 avi- 28R Q25+ R4 im
[MPa]s # 2 [5 » )

() % &f 7 F=10,000[N]enie® & » o« §4 g4 vk 18?2 1§ R4 hig
[MPa] i = ? [5 4]

(+ ) %t f 77 F=10,000[N]cic#* T » fu* B+ T+ Bp > T 3% 22?2 [6 4] i B ] 1AL
400 F
80 | ! ‘ [®-]
- -4 .-.@.._
1(? 3
150 : i
1 o _@
80 2! 4
A B : mm [®- ]

[FEEF 5 )



¥4 R

- R e B2 19T 0 230 S BCHm=5 e & B~ 28 4 S LKW 4o [Ble ] #7702 fo Bk 0 2% E6010 4% % ("% K5 & 5,=50,000psi=34.5MPa) it {74
#:# 5 1800[rpm] > ¢ ﬁie‘vlﬁaa] »Fd o B¢ TI~T4 s ek % 5 15452080 % » 5 7 4 4¢(Filletwelding) > =& & % 5 10mmE £4% ~ L R]F & % 5 8mmE &£ 4% » B &R
FREAE R EIIEX o G E TR i- s dBern 4 B A (Centr0|d)\}1&é}gs\ Lo > FHR = 2,003 BT AR

(- )%1~%21F§5‘1&E1‘%§&L1[mm]£ B2 30 3 2 B crpEd L2[mm)A Bl % e 2 [5 4]

~ ) #Ed R ARG ff L ?[HT C vt g5 i iR R X
(=) 2 3 rpm]s s 5@ 2?2 [54]) (= )13 &85 enibrgdta Fmm’] 5 2 [ 7 et f f:g%)i:x&:g )ixﬁ]

(E.)%1\%2\%35751_{4[N*m]/»}@]§f??[6A\] [6/'7\]
() FRpEdAHETRE I S0 ? [44])
(I) #HPBPH R TE > Zd 1 -2 - gh3 @ * - fAPRE - B E & hE o2 ) 2dggae iz [mm]i e ? [64]
dd A EVER LR 2 RF LR ? [54] (2) B il e JmmY s o 2[R 7 I IE = Ax (472 19 A S

lgmvn@"gm ﬁi ‘l‘-b prglﬂ’ }i N T‘a Afglﬂb%iagfglﬂ /'u mﬁ&éﬁ‘] [6 /\]

(z) 73# [ PIN]& = 2 [7 4]

TN
L
T1(158%) : N T;EZ /T2(45@) ,.100 . 200 100

\4‘

Sy Ep——
-
2
N
o
B

Y [Hi35) F8mm
P BHA7 : mm

i st i

L1

A
A A
A
h 4

|
i
i T4(80%%) R 55 B 10mm
|
|
|
|

€ (2 ]

i
—



